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3) v (D). (B). (©) W W @)

(2) % (B), (D), (A) 3R/ (O)

w1 (C), (A). (D) 33T (E)

[Question ID = 946][Question Description = Q53_Rajasthani_SHAAN_NOV20_shift1]

1. 1 [Option ID = 3781]
2. 2 [Option ID = 3782]
3. 3 [Option ID = 3783]
4. 4 [Option ID = 3784]

34)  Targ U USRAE Wi § -
(A) w3 09 SiEnE

(B) ‘aafus widt

(C)y WHga o6

(D) =9Edaias eI

(B) wHfiE qereh

feareT oo wm g Wt ST o

(1) = (A), (C) 3w (E) (2)
(3) @ (E), (D)3IR (B) (4)

w1d (B). (C) 31 (D)
% (A), (B) 31 (D)

[Question ID = 947][Question Description = Q54_Rajasthani_SHAAN_NOV20_shift1]

1. 1 [Option ID = 3785]
2. 2 [Option ID = 3786]
3. 3 [Option ID = 3787
4. 4 [Option ID = 3788]

33)  gduee drew G Feg-wmA AR ws § -
(A) 289 g@ fodisan 2
(B) drm T wiekt ferm ol amd
(C)  dr Tt & vy aeft =t B

(D) % T A gen g e § dia dE
(E)  3ura e Wi Jumme it Ptz wH g

featst fompem wim g wlt se) on -
(1) v (B), D) (E) (2)
(3) %W (B), (C) 31 (E) 4

T (A), (B) 31X (E)
T (A), (B) 3R (D)

[Question ID = 948][Question Description = Q55_Rajasthani_SHAAN_NOV20_shift1]

1. 1 [Option ID = 3789]
2. 2 [Option ID = 3790]
3. 3 [Option ID = 3791]
4, 4 [Option ID = 3792]
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3) % (B), (C) 31 (E) (4) wa (A), (D) 37 (E)
[Question ID = 949][Question Description = Q56_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3793]
2. 2 [Option ID = 3794]

3. 3 [Option ID = 3795]
4. 4 [Option ID = 3796]

37) gl =gl O e, ﬁ%@%&ﬁ,ﬁnﬁﬁmﬁ@aﬁ%?ﬁaﬁﬂﬁﬁq%-

-

(A) A

(B) ==

(C) e  werlt

(D) g

(E) Armemwm

fearer forpemt i 4 wdt I gon -

(1) %7 (A), (D), (C) 3R (E) (2) W (A). (C). (D) 31 (B)
(3 @ (B), (C). (D) 3T (W) 4y w1 (D), (B). (A) 31 (C)

[Question ID = 950][Question Description = Q57_Rajasthani_SHAAN_NOV20_shift1]
1 [Optien ID = 3797]
. 2 [Dption ID = 3798]
. 3 [Option ID = 3799]
4 [Option 1D = 3800]

oWk B

58) v T t e @ de g ol wu # (e g ame)

(A) e Tl

(B)  HIe g4

(C)  =warE S

(D) W A

(E) @mserite 9

femter frpeul o g @ 3w 9ol -

(1) T (A). (D), (O). (B) 31 (E) (2) @ B). (C). (D). (A) 31 (E)
(3) w1 (A), (B), (C). (D) R (E) (4) ¥ (C). (A). (D). (B) 31 (B)

[Question ID = 951][Question Description = Q58_Rajasthani_SHAAN_NOV20_shift1]
. 1 [Option ID = 3801]
2 [Option ID = 3802]
3 [Option ID = 3803]
. 4 [Optien ID = 3804]
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(A) & U FEH
(B) ol et s
(C) WemwRa =i & 7o

(D) &t U Hehe

(E) gl

Eatst fameat g wdt 3w goit

(1) =@ (A). (B) 31 (C) (2) W (B). (C) 37 (D)
(3) 9 (A), (D) 3T (B) (4) T (C). (D) 31 (B)

[Question ID = 952][Question Description = Q59_Rajasthani_SHAAN_NOVY20_shift1]
| 1. 1 [Option ID = 3805]
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| 2. 2 [Option ID = 3806]
3. 3 [Option ID = 3807
4. 4 [Option ID = 3808]

60) il WA U TS AR B -
(A)  Si. Feearer Tml
(B) =7, ®et oet
(C) 3. siomied wafern
(D) o s el
(E) Si. fg YRg™ e

fearer fomrent nra g wdt 3w ot
(1) %Tad (A), (D) 31 (B) (2)
(3) wE (B), (C) 3w (D) (4)

i (A), (D) 31 (F)
% (B). (C) 31 (E)

[Question ID = 953][Question Description = Q60_Rajasthani_SHAAN_NOV20_shift1]

1. 1 [Option ID = 3809]
2. 2 [Option ID = 3810]
3. 3 [Option ID = 3811]
4. 4 [Option ID = 3812]

1) Fesfigpardt gema & @l AE-
(&) T T T 3 e wed andi a1 |

(B) ‘o § qme’ R i W A Seerael S whEion € |

(C) ‘ordieTs Wl ¥ G i oW 99 6§l 2|
(D) s v fef 2am 3 fEst)
(E) Torurl oepla strpmedt B and |

(1) T (A). (B) 3R (B) (2
(3) w1d (A), (D) 31 (B) 4)

%1 (B). (C) 2R (D)
T (A), (C) 3R (E)

[Question ID = 954][Question Description = Q61_Rajasthani_SHAAN_NOY20_shift1]

1. 1 [Option ID = 3813]
2. 2 [Option ID = 3814]
3. 3 [Option ID = 3815]
4. 4 [Option ID = 3816]

%2) “Gioft =z Do’ sior e 3 s A w-
(A IR EF B, R e 2
(B) &t 3 @osH= B
(C) o1 37 wifges & @ 2
(D) 11 T O aiefi
(B) 3w wifees U =ar = e w8 fomm 2

featsr et w4 wdt = it -
(1) T (A), (B) 3R (O) (2) @ (A). (C) 3R (D)
(3) v\ (B), D) 1 () (4 T (A), (D) 3R (E)

[Question ID = 955][Question Description = Q62_Rajasthani_SHAAN_NOVY20_shift1]

1. 1 [Option ID = 3817]
2. 2 [Option ID = 3818]
3. 3 [Option ID = 3819]
4, 4 [Option ID = 3820]
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(C) =R - urEe
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(E) wgHEd
feae forpem WA g WEl ST ol -
1) [ (A), (B). (D) 3 (C) (2) w1 (B). (A), (C) 31 ()
3 % (C). (B). (D) 37 (A) (4) T D), (C). (A) 3R (B)

[Question ID = 956][Question Description = Q63_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3821]
2. 2 [Option ID = 3822)
3, 3 [Option ID = 3823)
4, 4 [Option ID = 3824]

64) % =ivly Fapor it &’ SO T -

(A) 93 3O T fae R R

(B) Wi s & ui U AW gohl 2|
(C) et U Il sara At g g |

(D) W T A AR wa # |

(E) Tt gAFg 9@ T U9 S |

fearsT e i g et Iw 9ol
(1) T (A), (B) 31 (B) (2) WM (4), (C) 3| (D)
(3) wmE (A), (D) T (E) (4) w1 (B), (C) 31 (E)

[Question ID = 957][Question Description = Q64_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3825]
2. 2 [Option ID = 3826]
3. 3 [Option ID = 3827]
4, 4 [Option ID = 3828]

63) st feareT T W@ g wieagW T AW #-

(4) &g
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(C) wmst
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() %M (A). (B) 37 (D) (2) @ (B), (C) 3% (D)

(3)  w (A). (B) 31 (C) (4) FE (A), (B), (C) 31 (D)

[Question ID = 958][Question Description = Q65_Rajasthani_SHAAN_NOVY20_shift1]

1
Z
3.
4

. 1 [Option ID = 3829]
. 2 [Option ID = 3830
3 [Option ID = 3831]
. 4 [Option ID = 3832]
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(B) rnfes MR & AW (I) 0 FF
(C) 3® TR T 1 WH (II) ¥FATH FRF
(D) 2R TS T FE (IV) e R
H‘Eﬁﬁ?ﬁ"ﬁ@“ﬁ:

(1) (A)-(D. (B)-(I). (C)-(III). (D)-IV)

(2) (A)-(ID). (B)-(I). (C)-(IV), (D)-ID

(3) (A)-D). (B)-(ID). (C)-AV), (D)-(1I)

4) (A)-AV). (B)-(I11). (O)-AL), (D)-(D)
[Question ID = 959][Question Description = Q66_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3833]
2. 2 [Option ID = 3834]

3. 3 [Option ID = 3835]
4. 4 [Option ID = 3836]

7) @&t - 1 g gt - 11 7 wraes femad) -
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(D) =H9 (IV) gt
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L A-@. B-AD. (O-dIL). D)-0V)
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(3  A-AV), B)-(IID), (O)-D)., (D)-(D
@ (A-AID. B)-M). (O)-AV), (D)-AL)

[Question ID = 960][Question Description = Q67_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3837)
2. 2 [Option ID = 3838]
3. 3 [Option ID = 3839]
4. 4 [Option ID = 3840]
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[Question ID = 961][Question Description = Q68_Rajasthani_SHAAN_NOV20_shift1]

(L)
(2)
(3)
(4)

WAL (D)L, WU )LV )
(A)-(AV). (B)-(D), (C)-AI). (D)-dID)
(A)-AV). (B)-(11), (C)-(I1I), (D)-(I)
(A)-(AID), B)-AV). (O)-(D), O)-dD)

1, 1 [Option ID = 3841]
2. 2 [Option ID = 3842]
3. 3 [Option ID = 3843]
4. 4 [Option ID = 3844]

63) gt - 19 gt - 11 3 gaew e -

[Question ID = 962][Question Description = Q69_Rajasthani_SHAAN_NOV20_shift1]
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ey
2)
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4
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(A)-AV). (B)-(D). (O)-dID. D)D)

1, 1 [Option ID = 3845]
2. 2 [Option ID = 3846]
3. 3 [Option ID = 3847
4. 4 [Option ID = 3848]

70) g=f - 1 g gt - II % s fiemen -

[Question ID = 963][Question Description = Q70_Rajasthani_SHAAN_NOV20_shift1]
. 1 [Option ID = 3849]
2 [Option ID = 3850]
]
]
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. 4 [Option ID = 3852

i - 11
O W R
AD  FEaT T
(1) wdier FgaTea
AV) e g

gl - 1
@ ywfesl
(I) RS YT Bl
(III) Iar = STl
AV) fer for am¢ seet

Your P

repp

ersonal Exams Guide



www.prep

p.in

) g -1 g gt - 1% we feme -

[Question ID = 964][Question Description = Q71_Rajasthani_SHAAN_NOV20_shift1]

1
2
3
4

Tt - 1

&) FTH
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(C) wamg et

(D) a1 § =, " § g
gt feehed =it
1)  A-av). ®-1D. (C)-A), (D)-AID
2)  A-an. @-@, [C)-1), (D)-AV)
3  @A@-@, B)-1I), (C)-al), (D)-(IV)
4)  A-dID. (B)-AV). (C)-I), (D)-(D

. 1 [Option ID = 3853]
. 2 [Option ID = 3854]
. 3 [Option ID = 3855]
. 4 [Option ID = 3856

72) gt - 1 g gl - 11 3 gmeem e -

[Question ID = 965][Question Description = Q72_Rajasthani_SHAAN_NOV20_shift1]
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1, 1 [Option ID = 3857]
2. 2 [Option ID = 3858]
3. 3 [Option ID = 3859]
4. 4 [Option ID = 3860]
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) a3 NELLF  CATRIIVID
D) T IV) WS
war freey ﬂ“ﬁ :

(L) (A)-AD. (B)-IV), (O)-(D), (D)-dID

(2) (A)-0). (B)-ID). (C)-AV), (D)D)

(3) (A)-(ID. (B)-I), (C)-@). (D)-AIV)

4)  (A)-Av), B)-@). (O)-11D), (D)-(1I)
[Question ID = 966][Question Description = Q73_Rajasthani_SHAAN_NOV20_shift1]
. 1 [Optien ID = 3861]
. 2 [Optien ID = 3862]

1
2
3. 3 [Option ID = 3863]
4. 4 [Option ID = 3864]

74y geft - 14 gt - 11 4 Freresa fiems -
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w1 feere it
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2y  A-O. B-aV). (O)-1D, (D)-dI1I)

(3 (A)-(AD). (B)-(11I). (C)-@V). (D)-(T)

4 (A)-1I). (B)-(IV), (C)-11). (D)-(T)
[Question ID = 967][Question Description = Q74_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 3865]
2. 2 [Optien ID = 3866]

3. 3 [Option ID = 3867
4. 4 [Option ID = 3868]
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e s SE ST AT ERS ATy AT S

(4)  (A)-AD. B)-(IID, (C)-{I). (D)-IV)

[Question ID = 968][Question Description = Q75_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3869]
2. 2 [Option ID = 3870]
3. 3 [Option ID = 3871]
4. 4 [Option ID = 3872]
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[Question ID = 969][Question Description = Q76_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 3873]
2. 2 [Optien ID = 3874]
3. 3 [Option ID = 3875]
4. 4 [Option ID = 3876]
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featzr frmem mim ¥ ol 39t o
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[Question ID = 970][Question Description = Q77_Rajasthani_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 3877]
2. 2 [Option ID = 3878]
3. 3 [Option ID = 3879]
4, 4 [Option ID = 3880]
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' [Question ID = 971][Question Description = Q78_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 3881]
2. 2 [Option ID = 3882]
3. 3 [Option ID = 3883]
4, 4 [Option ID = 3884]
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(1) (E). (B), (C). (D). (A) (2) (B). (C). (D), (E). (A)
3  (E). B A, ©), D) (4 (B, E). ). D). A

[Question ID = 972][Question Description = Q79_Rajasthani_SHAAN_NOVY20_shift1]

1
2
3.
4

. 1 [Option ID = 3885]
. 2 [Option ID = 3886
3 [Option ID = 3887]
. 4 [Option ID = 3888
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(B) UHEM
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(3) (). (A), (B). (E), (D) 4y (E), (D). (C), (B). (&)

[Question ID = 973][Question Description = Q80_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3889

3. 3 [Option ID = 3891

]
2. 2 [Option ID = 3890]
]
]

4. 4 [Option ID = 3892
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D (A, ®. ®. D). (© @ (©.®). E. D) A
3 (B @A. D). ©).® @ (@), (0), A). @), ®)

[Question ID = 974][Question Description = Q81_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3893]
2. 2 [Option ID = 3894]
3. 3 [Option ID = 3895)
4. 4 [Option ID = 3896]
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(1) (A). (B, (C). (D), (E) 2)  (C). (D). (E). (A), (B
(3 (@A), B). D). (©). E @) (E). D), (©). @A), B

[Question ID = 975][Question Description = Q82_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3897]
2. 2 [Option ID = 3898]
3. 3 [Option ID = 3899]
4. 4 [Option ID = 3900]
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(B) @ s

(1) (B). (C). (D), (A). (E) @) (©), D). E), (B), (AN
3 @A), @3 (E).©), D 4) B, D). (). &), (E)

[Question ID = 976][Question Description = Q83_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 3901]
2. 2 [Optien ID = 3902]
3. 3 [Option ID = 3903]
4. 4 [Option ID = 3904]
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(3) (C). (B), (A). (E). (D) {4 (D), E). A). (B), (C)

[Question ID = 977][Question Description = Q84_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3905]
2. 2 [Option ID = 3906)
3. 3 [Option ID = 3907)
4, 4 [Option ID = 3508]

53 79 fen v @ wrewn @ de 4 o wE wh R - (A G snfa)

(A) T S51E T=hid



wWww.prepp.in
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(B) TgTU =R

(C) <Egd e

(D) &l fires ey

(E) Tere-=ig

fearer forpem w7 g wét sa¢ 9on -

(1} (A, (B). (C). (D), (E) (2 (D). (C), (B), (A). (E)
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[Question ID = 978][Question Description = Q85_Rajasthani_SHAAN_NOVY20_shift1]
1 [Option ID = 3909]
2 [Option ID = 3910]
. 3 [Option ID = 3911]
. 4 [Option ID = 3912]

86) += zﬁ =30 ) fﬁzﬁ?ﬂ %, oo 3i% 9™ Assertion (A) 3R ?Fa T Reason (R)% :

arE (A) : T2 mieen  sfagm das gt § anites | U am-seag s T s 3 i
w9 3 2, Fud ¥ g T o YT 9w 2 |
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S i | SYetey THAET I Al U Y B o U8 39w uHH |

fetter wvom & o & Tt A9 R Rt & weg wd 39w ot
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[Question ID = 979][Question Description = Q86_Rajasthani_SHAAN_NOV20_shift1]

R

. 1 [Option ID = 3913]
. 2 [Option ID = 3914]
. 3 [Option ID = 3915]
4 [Option 1D = 3916]

87) <1 3 = faien & -

FEI:  AeTHE U TEIH B SR SESEEl T e T o FRaT 3 R Sere Jaie we
{ T R 3 FR AfaeEia 2 1 3w e t S T W e g e =
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[Question ID = 980][Question Description = Q87_Rajasthani_SHAAN_NOV20_shift1]

. 1 [Option ID = 3917]

1
2. 2 [Option ID = 3918]
3.

4. 4 [Option ID = 3920]

3 [Option ID = 3919]

88) = @1 = et 2 -
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(4) <9 I17Tea & 9T w0 I1 98l 2
[Question ID = 981][Question Description = Q88_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3921
2. 2 [Optien ID = 3922

]
]
3. 3 [Option ID = 3923]
4. 4 [Option ID = 3924]

89) 3 3 wom AT £ -

Fl: T wer g onul A e 3 far § 't o ot e ong 21 ot siaw & SE fig
J wrrerger ITE T Al 3 o o 98 9y 9o 2 |
FOA I0: T@ gl 9ol 3@, TR A g aviiad 2 uiEn e T i FRe se o1 2 )
ferst =om F o 4 vEa A= s e | vey ww swogen -
Q) o Ia) = I1 S udl 2
(2) W 1R F9A 11 3 e &
(3) v 1EE 2 um % 1T 2
@ = ITesd & o s LT 2
[Question ID = 982][Question Description = Q89_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 3925]
2. 2 [Option ID = 3926]

3. 3 [Option ID = 3927
4. 4 [Option ID = 3928]

90) 3 31w feare 2, oy o1 U9 Assertion (A) ¥R 3= T Reason (R) &
oA (A) : HeaemE O abEn ¥ fER g ar =eer gie O R o s A Fere Ff i s e w1
SIAH—SAAHAT L WA F 57 oA 1 Wolizan T Ty wRai—FE I 6F |

T (R): I19% TU H A W HEg % Sigiw foufa v wor R s =@ § = oRy U e e, sw
TG 3§ U THCHR TS |
fearet womr d A § vEa 9 A e § wey wE 3w g
(1) (@) 3R R) I 7 3 o0 ®) Q) T 98 gerar g3
@ (&) ® I T W ®) G Q)T wEd gerd g
@) AT R)TE R
@  (A)Ted 2 9 (R) HE B
[Question ID = 983][Question Description = Q90_Rajasthani_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 3929]
2. 2 [Option ID = 3930]

3. 3 [Option ID = 3931]
4. 4 [Option ID = 3932]

Topic:- 43Rajasthani_B

D 5 Reeh srm 3 e o vea v ai | R s are et R wa gl Rreen 9o
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[Question ID = 984][Question Description = Q91_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3933]
2. 2 [Option ID = 3934]
3. 3 [Option ID = 3935]
4. 4 [Option 1D = 3936]

D 9 R o 3 vam o vge w4 4 ol s o R frmeni wa § w@ Reer ot
WeE 1§ TE AGER T A 2ie U 2 it | off S oot feowd, woft ww fte wifem & e,
AR @ TR e ot dgw F wrefE o o, R T e g ok | & S faften w3 € 2
i 9 @ TS O I3 TEAR WE Aiansd | T8 1 2 U 52 FEd qf Se 9K W 3 Wl 3@ 9u §garr,
WL, G § A= 3 TS T S g At fvfiet | 3 1 e J ool ow O M) SR ¥ 2@ U S
IR A | 3T =on § v e S 3R HAfedt St % S ArTai § B goll g o At o A |

=0] T § o7 Il e © OEt oRy 2-
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[Question ID = 985][Question Description = Q92_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3937]
2. 2 [Optien ID = 3938]
3. 3 [Option ID = 3939
4. 4 [Option ID = 3940]

D 9 R o 3 vam § v v i § ol s o R Rrmeni wa § wd Rreen ot
e # TR e T 2 & S R | o e ot R, aoh e S e o e,
AR @l =R e ot g F w5, YR A e g =2 | A & S faften w3 € a
o o s & S T W A | 72 A @ S gl @ % on o § e sa w weaE,
A, @ § T ow s t S g e foi | e t S 3 e ow & Frt) steik t 49 @ g
IR T § G231 9 § 9 e ANt 3R HAfedt SISt % w@ wrai § Rt vl g o wea o A A |
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(3 TaIIe (4) =Y I

[Question ID = 986][Question Description = Q93_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Opticn ID = 3941]
2. 2 [Option ID = 3942)
3. 3 [Option ID = 3943]
4, 4 [Option ID = 3944]

D 52 Rty smam § v g vem v @ § g saw wre e Rl W § wd R o
WeE 1§ TE AGER T A 2ie U 2 it | off S oot feowd, woft ww fte wifem & e,
AR @ TR e ot dgw F wrefE o o, R T e g ok | & S faften w3 € 2
i 9 @ TS O I3 TEAR WE Aiansd | T8 1 2 U 52 FEd qf Se 9K W 3 Wl 3@ 9u §garr,
WL, G § A= 3 TS T S g At fvfiet | 3 1 e J ool ow O M) SR ¥ 2@ U S
IR A | 3T =on § v e S 3R HAfedt St % S ArTai § B goll g o At o A |




WWWw.prepp.in prepp

07 Y TS PO S TR Goff G OTd Al shel e -
(1) e s (2) SAEdR QA e
(3 TEN T I (4) Tmas T Fe

[Question ID = 987][Question Description = Q94_Rajasthani_SHAAN_NOV20_shift1]
1, 1 [Option ID = 3945]
2. 2 [Optien ID = 3946]
3. 3 [Optien ID = 3947]
4. 4 [Option ID = 3948]

% R s 3 v 4 vem o A | s wae e R frment W g wd Rreper T
WeE 1§ I AGER A 2ie U %2 it | off S woit feovd, woft ww fie wifem & e,
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[Question ID = 988][Question Description = Q95_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3949]
2. 2 [Option ID = 3950]
3. 3 [Option ID = 3951]
4, 4 [Option ID = 3952]

Topic:- 43Rajasthani_C
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[Question ID = 989][Question Description = Q96_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3953]
2. 2 [Option ID = 3954)]
3. 3 [Option ID = 3955]
4. 4 [Option ID = 3956]
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[Question ID = 990][Question Description = Q97_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3957]
2. 2 [Option ID = 3958]
3. 3 [Option ID = 3959]
4. 4 [Option ID = 3960]
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[Question ID = 991][Question Description = Q98_Rajasthani_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 3961]
2. 2 [Option ID = 3962]
3. 3 [Option ID = 3963]
4, 4 [Option ID = 3964]
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[Question ID = 992][Question Description = Q99_Rajasthani_SHAAN_NOVY20_shift1]
1. 1 [Option ID = 3965]
2. 2 [Option ID = 3966]
3. 3 [Option ID = 3967]
4, 4 [Option ID = 3968]
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[Question ID = 994][Question Description = Q100_Rajasthani_SHAAN_NOV20_shift1]
1. 1 [Option ID = 3973]
2. 2 [Optien ID = 3974]
3. 3 [Optien ID = 3975]
4. 4 [Option ID = 3976]
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Topic:- General Paper_Set1_A

1)

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 53
Others (OT) 6% 3:6

frefafiga afores w0 faem Aifg e v o g ot | toem o fafhm gat 3 wwa % welas = i
(%) Taew @ gey-afeen wdse sma qmtan T 2 wft &9 % Fa wdsa f wen 80 g 2
qrferss o U 77U 31epsl o IR W W = I Sy

TG % FHEEe 1 AFar G
TSR, h1 &5 A o1 e
gt (%) forawor | gea-ufger ogo@ ((3: 7 )
o (T 3) 15% 3:2
Tod (TF T) 12% 5:3
fmtor it s (ot ) 9% 5:4
e (i 1R) 18% B
oA (T U) 21% 3:4
IedTEa 3R ufiEga (d &) 19% 5:3
3= (3 &) 6% 8:5

(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

wift & i s qwu wefee ) sftad deT @ 37 (Symers % @ s a)

(1)
(3

6.39 TT@ Q) 4.69 TE

5.96 TG (4) 7.48 9@
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[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028)

2)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% biid
Professional (PR) 18% 61T
Management (MA) 21% 3:4
Production and Transport (PT) 19% 538
Others (OT) 6% Jib

frefafgs ol w faem it fed uw @ ge ot d toem & ffts g3t 4 ara 6 wefse = gfeea
(%) T aw Tey-ufgen FEEE SEUE qmiE T &l 9l &4 % Fa wEEd Bl G 80 @@ 2l
arfersst o 138 U SRSt % PR 9T YT % 39 dIAg)

TG % S T AFar G
TSR, h1 &5 ARG ol i
gt (%) forawor | gea-ufgen og@ ((3: 7 )
war (v§ 3) 15% 3:2
Tow (T 1) 12% 5:3
fmtor it smear () 9% 5:4
rbwee (f 9IR) 18% T
WeeA (T U) 21% Fad
IeaTEA 3R ufigsa (d &) 19% K
s (3 &) 6% 8:5
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%
(3) 320% (4) BO%

wg § o ff o & o e ufeen wEee i Fo gem W@ & § FERa g1 wEed A

forern wfawa 27
(1) 330%
(D 320%

(2) 318%
(4 80%

[Question ID = 2008][Question Description = Q02_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4, 4 [Option ID = 8032]

3)

Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different emplovment sectors durlng a given
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vear. Total workforce in all the sectors put together i1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 32
Sales (SA) 12% 543
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% 833
Others (OT) 6% 3:68

Frefafan oftem W e fift formd o & gn v 9 Ooem % fafiw omi 4 wwa & welse = wfoea
(%) Toamr qun gEu-afgen weme oue gt Bl @i & % T s 6 §em 80 9@ 2

ferT ° T8 770 STS] % STHR W 9T o o i)

A % S 1 & fm
TR 67 & I < Frdere
stca (%) formm | gea-wfeen ogu@ ((3: 7 )
a1 (7@ 3) 15% 5:2
Ted (TE T) 12% 5:3
ot 237 orgear (4 o) 9% 5:4
ArETEE (i 2TR) 18% 5:7
weuA (TH U) 21% 3:4
Ieures #IR ufiags (di ) 19% 5:8
317 (211 &) 6% 315

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH U 3R TN T &9 § AL 95 BEE H Fa T 6 A 49 § T HEee 6 fe I FOeET

oram widwa 87
() 89%
(3 89%

2 87%
4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4, 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector

Workforce of India

Percentage (%)

h . TR L, PR L,

Ratio of Male to Female

MAT . TN
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S —
Service (SE) 15% 32
Dales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% 533
Others (OT) 6% 3:68

Frefefea arferm w fem Fifvm ook o @ gu o | S & fafaw ot & e & weisw = st
(%) o a1 Tu-afeen Feme oum qmta T 2wl EEl % P wEww G 30 9@ )
aiferst A T T TS F ATYR W ATT o TR i)

A % S 1 & fm
TR 67 & I <1 Frfere
stca (%) formn | gea-wfgen ogu@ ((3: 7 )
a1 (@ 3) 15% 3:2
oE (TE T) 12% 5:3
ot 23R ofgear (i ) 9% 5:4
e (i @TR) 18% 5:7
weuA (T U) 21% 3:4
Ieures 3R ufiass (4 ) 19% B3
319 (a1 &) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T 3 TH T & § TG Afgen HEsE i o auar o 91 F 47 | Fea Aften sEee @ aem w5

¥ Fraar 27
(1) 5.1 =@ (2) 7.5®
(3) 5.7 9@ 4) 13.2 9irg

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

%) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
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| Others (OT) ] 6% | g:D |

frforfaa aform ® e Fifte foow o @ 3 9 9 TR & faftw &0 3 s & Fesw = sfaea
(%) o qon ge9-AfEen e oUW qmE @ 2wt @l % o wEws S e 80 A| 2|
aifers § 13U 70 STST % SR W TYT % IaT aer)

Td % A H1 & foawor
TR 67 & I o Frer
stca (%) formn | gea-wfeen ogum@ (307 )
T (T %) 15% 3:2
e (TE T) 12% 5:3
ot 237 orgear (4 o) 9% 5:4
TrEwEE (i 2TR) 18% 5:7
weuA (T U) 21% 3:4
Ieures 3R ufiass (4 ) 19% BuB
3177 (31 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1) 17 : 39 (2)16: 37

(3)16:35 (4)16: 39

Ht T &9 § TERG Afgen FEEd B 96 AR 9 AR TE 3N &E § reRd 95 S i Tl JTA 6

ST o 27
(1) 17: 39 (2) 16:37
(3) 16 : 35 (4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NM0V_S51_SHAAN]
. 1 [Option ID = 8041]
2 [Option ID = 8042]
. 3 [Option ID = 8043]
. 4 [Option ID = 8044)]

bl D —

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL = Fpu T A gen IR e T gee i 9eA FE TR 36 Sared RGO W Bl 8 7
(1)  wid &R’ (2) FET W

3) HE®X (4) wErE fFm T

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
2 B

[Option ID = 8045]
2.2

[Option ID = 8046]
3. 3

[Option ID = 8047]
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?

(A} Self efficacy

(B) Planning

(C) Locus of control
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- (D) Communicating
(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)
(2) (B) and (C)
(3) (D) and (E)
(4) (B) and (D)

Frafafaa 3= gfenfg s emarett it gt 2 o sroamm gad fafie wral & meam | o foe

T 2| S I S SR ia B amard 81 3 B i d G SHeER R S It T 87

(A)  sArca-@adl (ame)

B e

(C) e fi Aty

D)

(E) TR

Frt feg e forpet & ¥ wE S o == il
1) QAR B)

@ (B 3I(C)

3 (D)3 (E)

@ B®IRD)

[Question ID = 2013][Question Description = Q07_GP_20NOV_51_SHAAN]

1.1

[Option ID = 8049]

2. 2

[Option ID = 8050]

£

[Option ID = 8051]

4. 4

[Option ID = 8052)

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List 1l provides the techniques of increasing

effectiveness of the method.
List 1 List Il
Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(I} Using Swayam and Moocs

(B} Open and distance learning method (I} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material
(D) Online methods of teaching (IV) Reflective questions coupled with discussion

Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(1l}, (C)-(IIN), (D)-(1V)
(2) (A)-(1), (B)-(1V), (C)-(I), (D)-(1)
(3) (A)-(V), (B)-(ND), (C)-(N), (D)-(1)
(4) (A)-(11), (B)-(1), (C)-(IV}, (D)-(MI)

A1 % @ gf-11 =1 foem $ife) g=h-1 9 s siftrm awene © faan $i Bt 6 o 2, o=fs g
I1 # siftrme fafimt o sememfier s 6 @ § o &)

(A)
(B

el I
Boragor it fafern

s -g Y srafsearener i
T it g st ff

e - Py ~— -

@
D

Tt 1T

UHTEE ] SZH =t dhAlD
T 1R qE T S
ATERE FAFIHF Gh

— " -
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(L)  TRISIOT 1 SATHh 19T (111) WTSIER ATGUICHT AT
(D) foreer H e fify V) aiE=l % my-Try e o
9 o o faweat § O v ST w1 95 Hie

1) (&A-D, (B)-AD), (C)-aIDh, (D)-0V)
2  @-dIh, B)-aV), (C)-(D), (D)-(1)
3 A-Av), ®-I), (€)-aD, (D)D)
4 @-dD, B)-D. (O-AV), (D)-A1D)

[Question ID = 2014][Question Description = Q08_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (1) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (1) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

w97 (D) : STl afi wiftermar oo = gdienfi= % T o 39 gaar 1 sudt dhmr =
T e ™ G oAR A S 2

9 (I0) : Fegig =afee wlam ik nad sfraa adeor wenfiEl & ffie smer 3
uT S % YEEE 8 qER ey W #)

SUUH HIA = A °, F fou T frwedt 0 @ @9 S9gw SW w9 i

1) =W @ R A1) 3= = A
@) =W @) R (1) 3 Tow B
(3) W (D) T 2, A e (1D T R

4)  FF (D TeE 2, SFF F99 1) 95t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S51_SHAAN]
1. 1 [Optien ID = 8057]
2. 2 [Optien ID = 8058]
3. 3 [Optien ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R}.

Assertion {A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) {(A) is true but (R) is false

(4) (A) is false but (R} is true

Hie g w9 g w ¥ ©F ifuFR (Assertion A) % &9 7 faflga @ 1 z@u 3w #F0 (Reason R)
HE]H ;
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w1t (A) ; foregor & amgfr @ik ang @ A sl weEar el w1 Ffa v sfem gfemm
1 TEAH AT 2
F (R) forddt worrelt fveaor weran wonedt =61 wiftem afifafaat 4 gam % wy 93w fear s

g

I YT * AS 1, 9 e o el § 9 get S W 999 i

(1)
(2)
(3
(4)

(4) 3T (R) 391 &7 B 3R (R), (A) 1 w8t =me 2

(A) 3R (R) 31 73 &, 9 (R), (A) 1 #&t =ean 741 2
(A) BT 2, @ (R) s19¢q 2|

(A) 315 2, 3 (R) 99 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora wep & W ¥ ufqurfi-uices =t wearfsa e smar 27

(1)
(3

FedT g @) Ut e
TS MY (4) TETTEHE WY

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8065]
2. 2 [Optien ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of

research?

(A) Descriptive method
(B} Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€C) and (D)

(4) (D) and (E)

uitsreu afem e afmfe = af ofigf® = oufe % =v 4 2t 3, o 6 f=fofea 4 @ = Gt

] T GUHR &7

(A)
(B)
(C)
(D)
(E)

faraoTenss fa
T Terfe
ot fafl

tfaetes fafy

=ATHETHS Tafe

F= fou o fawedt 8 o OF S w1 9= i

(1)

(2)

(A) 37 (B)
(B) 37 (C)
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3 (O >R D)
@ (D) IR (E)

[Question ID = 2018][Question Description = Q12_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4, 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List |l provides techniques used.
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below ;

(1) (A)-(1I1}, (B)-(IV), (C)-(N), (D)-(I)

(2) (A)-(1), (B)-(I1}, (C)-(lIN), (D)-(IV)

(3) (A)-(11), (B)-(IN), {C)-(1), (D)-(IV)

(4) (A)-(1l1}, (B)-(I), (C)-(I1), (D)-(1V)

-1 % o G-I =1 faens fifse) g1 @ Y % =0 uea 2, St gefl-I1 4 356 gR1 g a1

Gin! geft-I1

e o = W | AT ST TR
(A)  wwE iy (I)  ATRS! 1 GrfiEs 3T aThE Tegdi
(B) ufterewn fmfo D) U goT U2 ° Tl H
(C) wic=e=m wfsean =1 == (III) <1 6 &3 ¥ e 99 33
(D) TgT fawaor AV) e < <RI % s gay riid e
e fau o faedt ® W WE ST 1 =9 i

1) (A, B)-AV), (C)-aD). (D)-(D)
2 (A-D. B-AL), (C)-AID, (D)-AV)
(3)  (A-dD, B)-1I), (O)-D. (D)-AV)
(¢ (A-dID. B)-O. (O)-AD. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4, 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

e g wum i 3 .
7 (D) : o Ta-en s TE-Tr § Sw ok de F e S Aol e A s T8
T 2|

%o (ID) : g GeEt Yiasar 30T g seE gt el = fog sfEE 2
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ITUTH ST = A 1, e B e feedt | 9 wdt s W 9ue e

1) =W @) R 1) 3 77 3
(2) =y (D) R D 241 o 3
(3) = (D) " 2, st =eE (1D o9 2

@)  FE () IFE 2, e 599 (1) 99 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8077)

2 [Option ID = 8078]
. 3 [Option ID = 8079]

4 [Option ID = 8080]

B e

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Mull hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hi= 2w g o £ ; ©F sifimR (Assertion A) % w9 7 fafgw ® @ 3@ 9% F0 (Reason R)
FwaH

sAfeE (A) et wiy afmeT (Hy) =+ Busofs gimmern (He)  memaa@r @ wiaw frn s
M|

w0l (R) e afiepear (Hy) =R ashania 1 sl dig e € 78 &t @ gt 2

I HUA F T 4, $= fou T fawedt 0 @ aen sugw = W 99 i

(1) (A) IR (R) IF1 T 2 R (R). (A) A =& =7mem 2

2) (A s R) A @ F, @ (R), (A) B wdl wmem = R
@ (AT R, @t ®) wE @ R

@ (A wd TE 2, A ®) 5 R

[Question ID = 2021][Question Description = Q15_GP_20M0V_S51_SHAAN]
. 1 [Option ID = 8081]
2 [Option ID = 8082]
. 3 [Option ID = 8083]
. 4 [Dption ID = 8084)]

B R L ]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

T TE afwe goi o8 udE e feewm Freafafea 4 @ G fath = w20

(1) 30 S (2) 30
(3) 15 AEN (4) 15 7o

[Question ID = 2022][Question Description = Q16_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8085]
2 [Option ID = 8086]
3 [Option ID = 8087]
. 4 [Optien ID = 8088]

oW 2 =

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

prepp
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fopm THTERTR 1 TdE- T (M) "Let truth prevail” 87

Q  f2 R Q) TE A 3
@ fafem @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but {(R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 2 v fag U § : u AfEYA (Assertionﬂ)%Wﬁ%’f@ﬁ%?ﬁgﬁﬂ%ﬂ%w(%asonﬁ)
FEIH

a1 (A) sAftrs wan (igwree) Iasa e gakrdia S eisiE g 2, v =5 g
£ I9E ¥ o UG U2 @I 2

w0 (R) FER THRY (STswRe) Hifea W aei BF i $ TR TE 2

S YA F e H, T B T fGwedt 0 O @ S ST A 9 i

(1) (A) IR R) I T T aflt ®). (A) F @& =E 2

@) (@A) it ®) A w@ E, AF ®), A) F ad s = R
3 (A g, @ R) v 7= Y

@) Q)= TE 7, A (R) WE B

[Question ID = 2024][Question Description = Q18_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8093]
2. 2 [Optien ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods,

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1) {A) and (B) only

(2} (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SU 2 5g MUFHA Uel Aaehies FE TR ¥ TF TR (Gas a mieral amfea ge7?

(A) wuw fagm fafimt it s H @ B0 % U
(B) I= ot safim v % Wy v 24 %
(C)  smfeR i fran aomel =1 TR weH % R

(D) =2 4R S9F % fore FF Wi w1 woE T HifE B
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(1

(2)

(3)

(4)

[Question ID = 2025][Question Description = Q19_GP_20N0V_S1_SHAAN]

A (A) 3R (B)
e (B) 31T (C)
Fat (C) 3 (D)

FA (A) 3T (D)

1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098
3. 3 [Option ID = 8099
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility
(C) Prejudice
(D) Disinterest
(E) Inattention

Choose the most appropriate answer from the options given below :

(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (C), (D) and (E) only
(4) (A), (C) and (D) only

fiu & 7 g 7 @ g 1 saEmie et A e i

(A)
(B)
©
D)

(E)

=1 fau o el § 9 wEl 3o = Fifeu

(L
2)
(3

(4

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]

TR
SRl
s

el

€I = T g

Fad (4), (B) 31 (O)
a9 (B). (C) 3R (D)
Fa (C). (D) 3R (E)
Fat (A), (C) R (D)

1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3, 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

prepp
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16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months

and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs, 5,000, find the average monthly

income of the family
(1) Rs. 3,000/- (2) Rs. 4,000/-
(3) Rs. 5,000/- (4) Rs, 6,000/-

U T4 % AR U TRAR W N9d Wik o9 YUY 3 WEFl ¥ 4000 T, 3G I 4 "ol W 4500 T
R sl 5 w2E A 5000 T 91) Al 3w ¥ % 0 B w=4 5000 FuF off A 9@ ufEw H sHigd

A1z 3 feal 4 ?
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(1)  3000/- ¥ (2) 4000/- T/

(3  5000/- T (4) 6000/ T

[Question ID = 2027][Question Description = Q21_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4, 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg =it g} ararsw weet ® sitgd sdE -

(1) 76.5 (2) 98.25
(3) 55.75 (4) HB.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% ARG 33 WX 3 994 W 11 ofeX 39 ¥ e e F v W aifia s 21 afewd # @

STl ;
1) 25% (2) 50%
(3  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  (2) 5.26%
(3) 5% (4) 7.2%

afg o) = v ST g Sk FseT gew w1 95% 2 a1 e =R w0 27

(1) 4.26% (2) 5.26%

(3) D% (4) 1.2%
[Question ID = 2030][Question Description = Q24_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8117]

2. 2 [Option ID = 8118]

3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs, 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

72 is =afs el aeg =+t 25% ufawa A o & 39 1200/~ o7t ¥ dwar 2 aF 30% = @19 HUH
fore =@ =w =g = ha Fimg W s= =R @ e

(1)  1600/- v (2) 2000/- =3
3  2080/- ¥@ @) 1560/ &

[Question ID = 2031][Question Description = Q25_GP_20M0V_S1_SHAAN]
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. 1 [Optien ID = 8121]
2 [Option ID = 8122]
3 [Option ID = 8123]
. 4 [Option ID = 8124]

oW

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

TS M quAard |y = freafafaa d @ Fie-m w9 o 9t R T 9%g % 'y seEa )

ST 27
(1) s (2) <1gEE
(3) s (4) Uy

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125)
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Opticn ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (&), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

T ToRATRE o IR ST & A H T 1 Gl 36 o 8 7

&)  fommd foav 9 semm it gama /[ wEisgar w5 (3TE)
(B) RO = HH (27)

€  sifamon 5 fag % = 3 g (Frm)

(D)  sfaren =1 %o (via)

(E) Tifea fem = samw & (Sen)

e fau e faereat 4 @ g 39 w0 =9I T

@ D) E). A ©), B
@ (D). ©). (B). A). (E)
(3 (D). B (E). A (O
@ D) E) Q. B
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1, 1 [Option ID = 8129]
2. 2 [Optien ID = 8130]
3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A) Nayaya
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(B) Vaisesikas

(C)  Buddhists
(D) Mimamsa

(E)  Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
4  (@. D) and (E) only

TS YRAHE 2EFwe -9 ATIEE W5g YA S ST % IO A A 7

@& =
(B) dfi

©) dig

(D)

(E) =mrs/arsmEa

et faw . forerenl & @ Tl I w1 A Al

(1) = (B) 3R (C)
2)  FF (B). (C) 3R (E)
(3) =« (B) 3 (E)
4 F9 (A). (D) ¥ (E)

[Question ID = 2034][Question Description = Q28_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4, 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (1) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement () are true

(2) Both Statement (1) and Statement (Il) are false

(3) Statement (1} is true but Statement (ll} is false

(4) Statement (1} is false but Statement (I} is true

= 3 wue fm 2

% (D) T R dhure % FATER HRAwiE E @ifhe 9 % ara H g 2|

w9 (1) : s T W5 Tel st 2@ % 25 5| 99R & J9aW o =iy 9fed oRgh: 78
sl 2 2 29 W a3 e 2

IHNF FUF o STETH H, H 4T T e § ¥ wE) SO % 99 i

(1) = (D 3 (ID 25 =93 2
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@ = (D) &R (1D I 5 B
(3) = () g 2, @i w9 (1D 319 2

(4) =9 (I) 39ca 2, <frT =91 (D) 9F 2)

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 8137]
3,7

[Option ID = 8138]
3 3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List [l

List | List i

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (l) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reasen  {lI) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (I¥) Becuase there is smoke

gefi-1 % @rer g=i-11 =1 firee fifae)
-1 - 11
T % T [Eice]
(&)  sfperon =hi guiite w9 A gfE @ Wl gAT BT € o AT Bl 8 AW Wi
H|
(B) =R F H dI) UETE W T 2
(C) Fifea Fram = sgmw am Il zafe wRIEl W & 21
(D) wnfud ) wHare Aoy aAV) @it T8t g3t 2

= fou v fawed § @ wF I w1 T i

1) @&)-O, B)-AID, (C)-AV), (D)-(II)
@ @-AV). (B-dID. (O)-1). (D)-AL)
3  @-dID, B)-AV). (C)-(I). (D)-AD
@)  (A-dDh), B)-O), (O)-dID. (D)-IV)

[Question 1D = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

wF oS 4 A T 4§ s A wise % Auen &1 Fmivy Ben 2 s e e e odt 2
St Tt fiueia ATsal =i 3T9sT SIFRR A DiT 31 994 H =9 2|

o R o R e s yEe e e 27

(1) e (dm) W 2 =g

(3) witE =2 T 3Ed (4) T d S IFeE
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[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S%) installed on it.

Reasons (R} : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

=2 31 =9 fiu o B ;v i {Assertion A) Fwa g fofga 2 a THa 6% T (Reason R)
FEqH

TFES (A) THF AW TASH SO J U AT famn snayas =9 § weuifia 5 wiEu)
HNT (R) : AT 3R B de dR W A" § darg T8 o gehd |

I9AH U T S o, Jr A e el § O w9 3ot W 9 hifae

1) (A IR (R) T v £ 2R (R), (A) h wdl =@ R

2 (AR ®R)IA T, AR R). (A) = e T 2
(3) (AT B, @ (R) 319 B

4 (A IEE 2, afF (R) T 2

[Question ID = 2038][Question Description = Q32_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

TaU 91 U 9ud B Gual % FH 1 Fefaiad Wi auaiet 98t %9 i ggeE i)
A) 1500 M Bytes

(B) 5 K Bytes

{C) 1 G Bytes

D) T Bytes

5 fag mu formeat 4 9 =@t SR w1 == Hifow

1 (D) A)C). (B)
2 @) {D.©C).B
3 @.6B.0.0

{45 (M iCh (AY (P
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[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154)]
3. 3 [Option ID = 8155]
4, 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth,

Statement (1) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement (1) and Statement (Il) are false

(3) Statement (1) is true but Statement (ll} is false

(4) Statement (1} is false but Statement (I} is true

@B & weT # fad sy o ag-r et Mt €, i gt wee fag e #

w2 (D) : E-F1E H I SRy ¥ F A 2
= (II) ; S-S = HToAS | weigy <l AN el wfern e o B S oS S e 2

I FHYF * oAw B, 9 e e Frew # 9 gel s w1 999 il

1) e (D) i AD 2 T B

(2) = (1) ot AD I 75 B

(3) = (D U B, S wy (D) 9 2

(4) =9 () 37cq 2, 9 w9 (1D O3 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4, 4 [Option ID = 8160]

30) Match List | with List Il :

g=it-1 = =g gfl-11 = fem ifsm)
i g=R-11
(sFroge arieaiies e ) (srtT)
(A) OCR D = zeafafias sEs 1 6 w0 H
o wger = 2)
(B) OMR an wz-frwedm wenet § o6 ToF 9 % o
T Tl 2
(C) Email A1) e FrgrFher
(D) Instant Messaging AV) Gu=IeH %ﬂﬁ‘%‘ﬂq

f9 feu o foredl 3 @ gt =9t w1 == Fifw

1)  @-dD. B)-O), (©)-AV). (D)-dID)
2  @-dD, (B)-O. (O)-(ID. (D)-AV)
3 A-@. B)-AD, (C)-a1I). (D)-AV)
4)  A-@). B)-ID, (C)-1AV), (D)-1I)

Mateh Taet T wath Taet 17 -
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(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (III) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  AQ-dD, B)-A). (O)-AV). (D)-AII)
(2) (A)-AD, (B)-D). (C)-(11L}, (D)-(1V)
3  @A-O, (B)-1D), (C)-(ILL), (D)-(IV)
@ @)@, (B)-dD. (O)-(IV). D)-AII)

[Question ID = 2041][Question Description = Q35_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3.3

[Option ID = 8163)
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafafiga 4 @ $a-ar v a0 = &R0 FE G e 27

(1) UeH SEATHARES (2) Thures FerEe
(3) IS SISMTHEIES @ o

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166)
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

ffafiaa A O Fi-o1 St 9id 9 91 F1 sg T8 87
(1)  warfE s (2) uEd B
(3)  wiFer (4) St

[Question ID = 2043][Question Description = Q37_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4, 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frfafaa @ @ Fi-of wepfas o9g 3w Sed 3 o 3ud st <m oE A | ¢
1 = (@) varengEt foepie
(3  wemHl (4 A

[Question ID = 2044][Question Description = Q38_GP_20M0V_S1_SHAAN]
| 1. 1 [Optien ID = 8173]

prepp
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| 2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG QORI =h! UHierulig i a1 % ded 1 NMSHE Tmfefiga o o foruesr gemew 27

(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem
[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8177]
. 2 [Option ID = 8178

]
. 3 [Optien ID = 8179]
4 [Option ID = 8180]

R

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (€) and (D) only

(2) (A), (B) and (C) only

(3) (B) and ([}) only

(4) (B) and (C) only

frforfas # o T Tl @1 afige I A3 % TERe ST ety TieRe W9 8 7

(A)  EEISA SRATFIES
(B) TRR Ty (PMas)
(C)  siieA

(D) HA

(E) ATgE STeERs

F9 faw T T § O 99 s W = hiR

(1)  =ae (B). (C) 3k (D)

(2) = (A), (B) ¥R (C)

(3)  ae (B) 3t (D)

(4)  =ae (B) 31X (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8181]

. 2 [Option ID = 8182]

. 3 [Option ID = 8183]
4 [Option 1D = 8184]

oL B

36) In context of Higher Education, Hon'ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?

(1) UGC ; ; (2) NCTE

(3) NCERT ; : (4) AICTE

= T & w4, wrdE swaw = A gl fian § uw uigEsn R 9 Feife e F o
Pttt © @ fra vo P /wea =t e G m?

1) st 2 TH S
(3 T di AR A (4y TaEd AT
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[Question ID = 2047][Question Description = Q41_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :

List 1

¢+ s Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru
(C) NDRI ; ; (Ill) Lucknow
(D) CDRI ; ; (V) Karnal

A1 % wy geft-11 =1 T Hifo
1 a1

(A) wTTd IO ©F
B) WaEIHT () e
(C) A3 om g (IIl) wETs
(D) = s g (IV) =

5 fer mu famwedt 4 @ uf sw = 9 Fifem .

(1) (A)-dD), (B)-{II), (C)-I), (D)-AV)

(2) (A)-(ID, (B)-@). (C)-(IV), (D)-(111)

(3) (A)-(11II), (B)-(I). (C)-(D). (D)-AV)

(4) (A)-(IV), (B)-AID), (C)-(II). (D)-()

[Question ID = 2048][Question Description = Q42_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4, 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A}, (B), (E) only

(3) (B), (D), (E) only

(4) (A}, (C), (D) only

7 forem ity (w7 3 1)-2020 % @ § & ve F Ty FE w0 ww@E 2| 39 FreRm % i a2

(A)
(B
(&)

D)

E)

TR § SEUE SR @R g e fEm w5
AP il gage 3g SEifEh o 3= % ey # fe < gad SEE-TEE g Uk 09 g2l |
wsft et ATt i seET < | wgrEa g s v s nfie wen

Tawe Tiet, B o oA e ¥ & § A et w W A g sniEem
R # YA A §U AU IEAH T F

Tareqr di=nfieh) o sitfg® a7 gerd anarsti w1 FHai s
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Your Personal Exams Guide



WWWw.prepp.in prepp

Your Personal Exams Guide

AL IR Rt R S B i EE B v ) = 0 B ) B e el B 1 T e

L *=4 (A, D), (B)
2  Had A), (B), (E)
(3 %« (B). (D), (B)
4 (), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4, 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A}, (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

Frefafea ¥ @ -9 s-afrm 52 87

(A)  EEIH

B) RLLC

(C)  TEEwH

Dy <

E) 7H

H= fou o fomedt € © w5 SR w1 T FRE

(1) === (A), B). (B)
(2) = (A), (©). (D)
(3) == (B), (C). (D)
@ = (C), (D). B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8197]
2, 2 [Option ID = 8198)
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T UE % TS <9 g AW 2015 ° woa faww wem-4 ¥ wefyg fefataa 9 8 s asm s

R 10 1

(1) U9 TaRed 3T ages] (2) T e

(3)  WE 3w (4) TN EER TS STHECET
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[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]

oL B

. 1 [Option ID = 8201]
. 2 [Option ID = 8202]
. 3 [Option ID = 8203]
4 [Option 1D = 8204]

Topic:- General Paper_5et1_C

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 hillion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

IS I GEUHIYE 96 YT 3E a1g 76U 8 99 6 36 2

FIAT TEE FIIS- 19 TeMH 591 THA T STYAYd 37T Taned w9 iR fidta fragg + o 6 w=w
ot it 21 fimer o W sifiw AT F when § cu%h sgva % @Y 97 AERE SERRE T SIS SO
g § el g 3| 99 9F g@g BY U 10 TR AT AT S a9 & iR ot wEear i g
T ST W 39 US W 8| Ueg AE TEMH T@Red ke ¥ wEl ouT B, U UH AT
amifaw-a1ils wwe ft 2| 3@ = wEw oafs Tow wwitE ) e e @it onfis sk
TeHifas e ugd 9 8 Rk o o w e e e ot 21 gk ug o gt anfie afamfl
(ferarll) 7 9 w1 31t o aiihl cd e AR @R, WY B AR FIva TR Wed F Wedr 4 99 B
= el gegi B fl 9@ W 2 A 7 Afaw geam aiee feem % v W off 3 @ Eiee
Aok % iged § e o T 31 g T abr st i o o e @ €1 3% AE wan Fr aftfeaten
e GEFE B0 e w Rl g gidta Tl % sles iR awg-ae @relt 9g 31 rddm s gmeA
s 2 55 400 fafemm (40 =) @l f TiE EEd B T s S o e PR s e
ge-taor (HHda) § 110 fafomm smieh sen i st snofh) goe sfime 2 5% 300 fifea (80 wug)
A AT g sl U e § g 9E g )

The major crisis faced by the world since World War |l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

(1)
(3)

fadr Porarrg & =g fowa =1 aed =t wwe Peg & o 7 27

SIBHE (2) SEFERR
LIy (4) WA

[Question ID = 2052][Question Description = Q46_GP_20NOV_51_SHAAN]

1
2
3
4

. 1 [Option ID = 8205]
. 2 [Option ID = 8206]
. 3 [Option ID = 8207]
. 4 [Option ID = 8208]
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Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asla late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I WA 96 9T 36 a8 76U T8 99 9 I 2

AT TEE FIGS- 19 TeMH §H1 THF T S1YA9d 3T TR o iR fita fOragg + o 6 w=w
o) oA B1 fomer ad % sifim AT § when # % 3zva F @9 98 arRE SRR W SsAR IeE
Herg § ¥ g 2| W 9F gE:g FI U 10 TE AP S I T g% & Rt AEear w gl
T SR W IO U W@ 3| Ueg A TR @R e W HE T B, I8 UH SUEE
aifaw-a1ils wwe ot 2| 3@ w1 wEw ol Tow wwiRE ) e oAt @it onfis sk
eI THE 934 G 3 o am ae e e R e T 21 a9k ug o e s afamfi
(ferarll) 7 9 w1 3t ot o aiehl cd TeF AR @R, WY B AR FIva Tane wed ¥ wedr 4 A9
= el gegi B fl 9@ W 3 AW 7 Afe® geam e fEem % v W off 3 W Eiee
AT o Agea ¥ e o g1 21 T o st et oft om e v 21 o 4 wan B afidEat
%o AEFE geh| W | R g giflw el % sed ot wng-ae @it ug 31 sfaddm s umed W
s 2 35 400 fafemm (40 =) @l i HiE S EEd 2w AR d o t PR s e
g -ty (HRda) d 110 fafomm smieh ser i st snofl) gee sifime 2 B s00 fufsma (80 =)
<A A g sl U e d g @ g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEE = Frefetaa ¥ @ e o W w8 ugi 27

1)
(3)

arif (2) Tl
AT 3T T (4) TFTEIR
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. 1 [Option ID = 8209

2 [Option ID = 8210]

. 3 [Option ID = 8211]
. 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
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yvear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

e i GEYHIY U U1 35 a8 73U T 9v % 39 3

HIAT TEE FIGS- 19 HeMH §H1 THF T 1YA9d 37T+ Taned w9 iR fita fragg o 6 w=w
o) oA B1 famer ad % sifim AT § when § % 3gwa F @9 95 avRE SRR W SsER IeE
Aerg # ¥ P 2| o 9F O FIH 10 TRE AT S I T g% & o ot Aeear gl
T SR WY SO U8 W 8| g A7 TR TR Uhe W HE ofUT B, I UH SUEE
amTfaw-a1ils wwe ft 2| 3@ = waEw wafs oW wwiRE ) e e s onfis sk
eI TTE UgH T 2 R o gee R e R e T 2 W Ug o gt i afaafi
(ferarll) 7 9 W 31t o aiihl cd W9 AR R, WY B A Fva T wed % wedr ¥ 9 @
= ekl gegl B ol 9@ W 3 A 78 dfta® geeam s TEem % v W off 3 W Eiee
AT < Agea ¥ e o g1 21 X T o st Hiefer of om e v 21 o 4 war B afiat
e AT 20l e | Rl g gidte el % sies ok wug-ae @relt ug 3 erddm s gmeA W
s 2 35 400 fafemm (40 =) = it Aien st e 8| faza 9% 3 s o § TR osm
g -taoy (Hda) d 110 fafomm smich swen ) st snofh) goe s 2 5 300 fufem= (80 wug)
<A AT g sl ) gu e § g E g )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica
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1. 1 [Option ID = 8213)
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Opticn ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an

unprecedented socio economi crisis, Stressing every one of the country it touches, it has the

prepp

Your Personal Exams Guide



wWww.prepp.in

potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T I GEGFIYEE T3 AT 3 78 T T 9% 9 W 3

FIAT P Ffae-19 Temi §A1 W9 1 STy 4T e g iR Tyt faveag = o & wem
a1 T 31 Toa ad F oAt & o wfim © U s9wa F WY AE GERE SRR SIS U
HEIdT # ¥l IR 3| o9 T q@E BT W 10 TG @F S I el g & R gl Aear A gl w6
T FEEE S SaT 9 W@ 2| UG AE WEWN) WReA Gwe ¥ wE ofE P, T8k eI
amifeeE-AidE wwe ff 3| W oW uww et e w2 e fmowd wmfs o e
(ferardl) 7 7 o &t ot wr Foriht Fgea WeF 9 @ 8, WY o 9% fava Tre wed % ueam U ve ©
@R wedl gedl B ol 3@ w ¥ oaw u Afvew omdE et feem % owE W o 3 @ Eice
ag=a % Sged # o o @1 21 @ fod s srolt et oit s e @ 21 5% 6 wan B wfifeufe
w9 AP 5P v | R g difla Tl % glew iR wmg-a9e @rell 9 3| U w wied W
IgHE 2 6 400 fafeem (40 =) @ it Teien s vt &) faza d=% J IR o R R wm e
g7-ta (ifem) 7 110 ffemm smieh swer F w=h snof) gom s 2 B 500 fafema (80 #U3)
AT AT gREE) SEal B g A § awd T2 g )

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDPF  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w geam 9 UN #it amfas et afamfa (fepadl) T it 390 vem fran 27
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UN-GHRP (4) UNSC
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3)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day, people are
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losing jobs and Income, With no way ol Knowing when normanty will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US $110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEGHEE T TUT $9E g 3T T 99 W IW 3
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ST AT gREIE) Seal B g R § awd TE g )

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2} Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % suct # frfafa § @ B @i/ afaeml &g 97 it a5 w9 g9meE gt ?

(1) 792 32 (2) TR it g
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